604

Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme	Vitura Health Limited (Company)
ACN/ARSN	ABN 629 071 594
1. Details of substantial holder(1)	
Name	Benjamin David Ngahuia Jansen
ACN/ARSN (if applicable)	
There was a change in the interests of the substantial holder on	28 / 06 / 2023
The previous notice was given to the company on	16 / 12/ 2021
The previous notice was dated	16 / 12 / 2021

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4)	Previous noti	Preser	nt notice	
	Person's votes Voting power (5)		Person's votes	Voting power (5)
Ordinary shares	129,890,570	23.68%	124,290,842	22.33%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company are as follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected		
See	See Annexure A attached						

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes
Dr Benjamin David Ngahuia Jansen	Elizabeth Sarah Jansen as trustee for the Stanford Investment Trust	Elizabeth Sarah Jansen as trustee for the Stanford Investment Trust	-	123,957,509	22.27%

Dr Benjamin David Ngahuia Jansen Jansen Benjamin David Ngahuia Jansen as trustee for Vivienne Jansen Brains Trust	Benjamin David Ngahuia Jansen as trustee for Vivienne Jansen Brains Trust	333,333	0.06%
---	--	---------	-------

5. Changes in association

Name and ACN/ARSN (if applicable)	Nature of association

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Benjamin David Ngahuia Jansen	Wear Accountants (Benjamin Jansen) 3/60 Newheath Dr Arundel QLD 4214
Elizabeth Sarah Jansen as trustee for the Stanford Investment Trust	Wear Accountants (Sarah Jansen) 3/60 Newheath Dr Arundel QLD 4214

Signature	print name	Dr Benjamin David Ngahuia Jansen	Capacity: Personal
	sign here	v v	date g/29/20/23

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 6 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (6) Include details of:
 - (a any relevant agreement or other circumstances because of which the change in relevant interest occurred. If subsection
 - 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers
) or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (7) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.
- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".

Transaction History Benjamin David Ngahuia Jansen Annexure A

This is Annexure A of one page referred to in para 3 of form 604 Notice of change of interests of substantial holder.

Date	Person whose relevant interest changed	Туре	Sec	Units	Consideration	Avg Price	Person's votes affected
28/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	204,351	104,137.27	0.5096	204,351
27/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	250,000	122,500.00	0.49	250,000
26/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	5,176	2,536.24	0.49	5,176
23/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	40,473	19,831.77	0.49	40,473
20/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	54,732	21,345.48	0.39	54,732
19/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	385,550	150,364.50	0.39	385,550
16/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	24,532	9,567.48	0.39	24,532
15/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	1	0.39	0.39	1
13/06/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	135,185	52,911.41	0.3914	135,185
8/05/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	64,547	22,617.27	0.3504	64,547
4/05/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	153,453	55,181.70	0.3596	153,453
3/05/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	270,000	103,572.00	0.3836	270,000

2/05/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	187,058	75,833.31	0.4054	187,058
28/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	413,798	131,339.49	0.3174	413,798
27/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	700,000	216,790.00	0.3097	700,000
26/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	255,921	76,827.48	0.3002	255,921
24/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	630,281	190,407.89	0.3021	630,281
21/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	725,000	230,767.50	0.3183	725,000
20/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	134,817	41,982.01	0.3114	134,817
19/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	5,228	1,829.80	0.35	5,228
17/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	12,682	4,438.70	0.35	12,682
14/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	21,769	7,619.15	0.35	21,769
13/04/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	VIT	39,853	14,044.20	0.3524	39,853
18/01/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	65,000	32,571.50	0.5011	65,000
17/01/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	581,000	312,055.10	0.5371	581,000
16/01/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	242,654	136,614.20	0.563	242,654
11/01/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	41,081	25,059.41	0.61	41,081
10/01/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	20,852	12,719.72	0.61	20,852
9/01/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	2,135	1,291.68	0.605002	2,135

3/01/2023	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	15,932	9,718.52	0.61	15,932
30/12/2022	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	26,179	15,707.40	0.6	26,179
29/12/2022	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	121,391	73,028.83	0.6016	121,391
21/12/2022	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	29,481	17,697.44	0.6003	29,481
20/12/2022	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	8,634	5,259.83	0.6092	8,634
19/12/2022	Elizabeth Jansen ATF Stanford Investment Trust	On Market Sale of fully paid ordinary shares	CAU	64,315	39,097.09	0.6079	64,315
		Shares issued to Ben Jansen upon vesting of 333,333 performance					
1/07/2022	Ben Jansen ATF Vivienne Jansen Brains Trust	rights issued to Ben Jansen in connection with the CDA Merger.	CAU	333,000	Nil	Nil	333,000

Signed

Benjamin David Ngahuia Jansen Date:

6/29/2023